FANATEC
" DD PRO

WHEEL BASE

EN Quick Guide
JP BEE V1v7H1F
HK &  {RiEiEm
ZH Y HRiEER
KR 2t50{ & 7jo|=

For/Pour/Fur/Para PS5", PS4"

)

© © © © 0 0 6 0 0 0 0 0 0 00 00 00 0 0000000000000 0000000000 0000000000000 000000 000000000000 0000000000000

Video Manual

Fanatec.com/QR/G

T-DD-RWP-PRO Fanatec.com/driver

:: —
.

¥y ¥y

[=]

R Driver & Firmware
Driver Download Instruction Manual

[=]

Fanatec.com/df-manual-V1

Windows PC

EN Translations - Page 6; JP &JiR - 6X—<;
HKEE - 35 6 = ZHEIF - 556 T, KR HY - 61| 0| X|

*JP J7— LU T EEH TS ; HK BHEG ; ZH FHENE ; KR EI0of HolE

* Update Firmware

(Lt Update Firmware )

EN PC compatibility not endorsed by Sony Interactive Entertainment Inc.

JP PCOE M. Sony Interactive Entertainment Inc. IC& > TIRIEESN TV E E A,
HK PC AR 4 Sony Interactive Entertainment Inc. A& -

ZH PC &K% Sony Interactive Entertainment Inc. (IATJ -

KR PC &84 Sony Interactive Entertainment Inc.oll A 2.58H4] k54 th,

EN Translations - Page 7; JPBJiR - 7X—  HKEE - S 7TH , ZHHIFZ -5 71T ;

KR # 9 - 7H 0| X|

© © © 0 © 6 6 0 0 0 0 0 00000000 000G 00 SO0 00 000000000000 00000000000 00000000000 0000000000000 00000000000 e

PACKAGE CONTENT

EN 1x Gran Turismo® DD Pro
JP 1x Gran Turismo® DD Pro
HK 1 {& Gran Turismo® DD Pro
ZH 1 4 Gran Turismo® DD Pro
KR 1x Gran Turismo® DD Pro

EN 1x USB Type-A to Type-C Cable
JP1IXUSBRAT A-24F Cr—T 1L
HK 1 {8 USB-A & USB-C {H#)45

ZH 1 #) USB-A % USB-C 243

KR 1x USB Type-A ~ Type-C #|0|&

EN 4x M6x8 mm T-Nut

JP 4x M6x8 mm /\— R U bk THw b
HK 4 { M6x8 NEJRERS T BURE
ZH 4 4 M6x8 [EEBEEIRE T BURE

KR 4x M6x8 mm SIE O E T-HE

EN 1x Boost Kit 180 Power Supply
JP 1x Boost Kit 180 iR

HK 1 {& Boost Kit 180 EyE/itrESS
ZH 1 4> Boost Kit 180 FEiE

KR 1x Boost Kit 180 & &3 &X|

@

(~160 cm)

EN 1x Power Cord (Regional)
JP 1x HlE BRI
HK 1 {% BB
ZH 4% XigiHeRiRs

KR 1x X9 MY AE

0 EN 1x Button caps
JP IX RV FryT
HK 1 16 $%8H18
ZH 14 14HIE
KRIx HE 2

© © © 0 © 6 6 0 0 0 0 0 00000000 000G 00 SO0 00 000000000000 00000000000 00000000000 0000000000000 00000000000 e

N N vV VNV NN N

AN N NS N N N . N

N N N VNV NN NNN

A\ N N N U A N L N W ¥

© © © 0 © 6 6 0 0 0 0 0 00000000 000G 00 SO0 00 000000000000 00000000000 00000000000 0000000000000 00000000000 e

HARD-MOUNT

EN Bottom; JP &M ; HK Ji530 ; ZH Ji538 ; KR 2 ™

50
isfe
50

i

EN Not for hard-mounting the
wheel base!

JP KA —)IR—R%EEET S
TeHDEDTIFHIELEA!
HK B IE LR SEE !

ZH NERTFRREEmEE!

KR 2 H|0|AE TS
17gst7| fleh 0| ot L CH

10mmk

EN Side; JP I ; HKi2 ; ZH i1 ; KR ¥ H

FEANATIEE

50

e

M6x(10+X) mm

A
\
A

Xmmy |




For detailed information, please download the user manual from fanatec.com/downloads. This Quick Guide covers basic features and is not a replacement
for the full manual. The product warranty is provided by Endor AG. Refer to the included warranty sheet as well as the terms & conditions of Endor AG on
fanatec.com.

CONNECTIONS ON & OFF ' SUPPORT

FHBIC OV RDBAD S 1—H =< Za7)LE A D> 00— FLTLEE L fanatec.com/downloads A&7 w7 11 K TIZEAN G HEERHRBEL THY. e
MRTHBI =27 IVORDOY TSV EEA. TORGRIFENdor AGDIREEIER T, (FBODRIEE &, fanatec. comDEndor AGDFIF#RHESIBL T2 LY,

Manufactured and distributed under license from Sony Interactive Entertainment LLC
and Sony Interactive Entertainment Inc.

g
o1

WMEHAENR, BFRUATETHEREFM: fanatec.com/downloads, ARIBISRIENMBEARINEE, FAENTENFM, AERIEEndor AGRIFEESE
B, E2Rfanatec.com EREMAURIEEELUR Endor AGHHERFHEF.

BREHES, BANATRETHRAFFM: fanatec.com/downloads, AHUEIERHRNBEAIIME, FRERBENFM. AF-SR7EEndor AGHIREEE
A, BESFIREHRRIEERLR fanatec.com EEndor AGHISRFRFOS .

MEH LHES 22{® oM ALE AL Bl RS CHREZESHMA|R: fanatec.com/downloads. O] & 710|E& 7|& 7|50 CHall CHRH MA s
CHAISHR| & @& LICE O] ME2 Endor AGS| BE S &LICH ZEHE #E A} fanatec.comOf| Al Endor AGS| S AESHYA|R.

Gran Turismo® and Gran Turismo® logo are registered trademarks or trademarks of
Sony Interactive Entertainment Inc.

®OOO®®

ON

APP
MANUAL 3 GranTurismo®$B KU GranTurismo®D A Tl
i i 2% e E
Fanatec.com/QR/GT-DD-RWP-PRO Fanatec.com/app '@ Sony Interactive Entertainment Inc. DEEREIEL 2l EBEHIET T,

Gran Turismo®#1Gran Turismo®F1Z2
Sony Interactive Entertainment Inc AysEfESZE] 542,

Gran Turismo®#1Gran Turismo®#iZ2
Sony Interactive Entertainment Inc. F9sE P 12ai1E,

Gran Turismo® % Gran Turismo® 2 1.+
Sony Interactive Entertainment Inc.8] 554 % = 24},

; For home and office use onl
WARNING: Choking Hazard - small parts. iheiibndindie . Y
Not for children under 6 years. REHLVA 74 ATOFERDH

T BT\ ABRNBYET, ERREMRAEER
bR RO T ITERENE B A, NEREMNHAZEER
FES6ELITHILE - 74 W AR A g
BE . =8RSS

FEAIR6RL T -

Ax AN 9P BE

641 lRe] oj ol AHE 4 gk,

OFF

?EIEI

Fanatec.com/support/faq

MODES O =

@A-fRFeT:

China RoHS 2

China RoHS 2 refers to the Ministry of Industry and Information Technology
Order No. 32, effective July 1, 2016, titled Management Methods for the
Restriction of the Use of Hazardous Substances in Electrical and Electronic
Products. To comply with China RoHS 2, we determined this product's
Environmental Protection Use Period (EPUP) to be 10 years in accordance
with the Marking for the Restricted Use of Hazardous Substances in Electronic [ H [

and Electrical Products, SJT 11364-2014.

Endor Japan BT R%E
115-0044 IRFAFALXFRFIE 1-15-3-906
BE: 03-6717-2719
A—JL: webshop@fanatec.com
T 7 b www.fanatec.com - www.endor.ag

o5
)

@ eeep

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

EN Repeat
JP #g)iRY

I3
2

HK &8 5
FE RoHS 2 245 2016 £ 7 A 1 B L F 7
ZH %‘% A E RoHS 2 f s‘ﬁ{
KR tHE MR (EPU U \J Manufactured and distributed by | #3835 K UE | BEEMA K | A= 2 74
BRI HEVWR # &
JP Ny —IRA; HK B#AS ; ZH 8RS ; KRI7|X| &S Part Name Hazardous Substances o® ©
; ; ; % | X | 8 | At | SREE | Zu_xm — . o
(Pb) | (Ho) | (cd) | (cr6+) | (PBB) (PBDE) SESNDSOoHA
. N o BT ° ° ° ° o o Fanatec" is a registered trademark of Endor AG
W R . ooyt . Stk eSS
JP v MEBERE ; HK BIEREE ; ZH BElEL% ; KR 18 X ;;Z‘E/Adamo” Designed and developed by Endor AG in Germany

E.ON-Allee 3 - 84036 Landshut - Germany
Customer Support: +49 (871) 9221-122 Fax: +49 (871) 9221-221
US/CAN: +1(866) 292-6226
Email: info.webshop@fanatec.com

o o o o o o

(Plastic)

SR A
X o o o o o

(Metal parts)

HERFErt

JP 3% HKEEST ; ZH EEA KR A2

Compatible Hardware / XS / SRARMREM / 5.8k st=4lo]:

O PS5™ | PS4 ** (') PC

° ° ° ° ° ° ENDOR JAPAN  # 3t £ #t Website: www.fanatec.com - www.endor.ag
R \ o (Other enclosure components) Made in China
1 ~ JP A &EF T HK BIRAIRERS ; ZH FFEFNRE s KR 7{7| 2 17| R ololo| o | o °
, 0y pss™/psam 0 - e
PlayStation's  PlayStation'd PC Compatibility ** PC Compatibility RFAGHRIR ST 11364 HIHLELHH.
i 9P EH MK 5L ZH B850 KR 2.
0: RNiX A% 2] S & 2197 GB/T 26572 (BR & AT E.ON-Allee 3 - 84036 Landshut - Germany : i : .
Fanatec.com/manuals 0: Indicates that the hazardous substance contained in all of the homogeneous materials for this part is below Telephone | Tenedon: +49 l_§71') 9221122 PeSIQ,T?f in Germany xad%f‘ff“na

. o the limit requirement of GB/T 26572 Email| rourasin. omn 15 e o ;ﬁ
JP HR—b  HK 3% ; ZH 3355 ; KR A4 X[ 2 X FREAENRED R R —HIRHRD ) 5 BB GB/T 26572 MIRHRBER. Tis product meets the requirementsofthe Technlcal Regulations gl i
which limit the use of certain hazardous substances in electrical and He = A ] Xﬂ x=

Imlolofx]>

X: Indicates that the hazardous substance contained in at least one of the homogeneous materials used for

* EN Sold separately; JP BI55Y ; HK 2 BIEEE ; ZH HFFESE ; KR EHoj

electronic equipment.
this part is above the limit requirement of GB/T 26572. Leih npoayKT sianosinac sumoram RoHS (upekrvsa €C 2011/65 / €C)

(5 6 8 9

© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0
© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0
© © ¢ 0 0 0 0 00000000000 0000000000 00000000000 000000000000 0000000000 0000000000000 0000000000000 000 0

Rev.01



